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[ARD508] Another name for accidental social change is -----------------
unplanned

[ARD508] The keeping farm records is more complex than adopting new variety of 
seeds is an example of which chracteristics of an innovation.
complexity

[ARD508] The social change that mainly covers a wide range of activity which leads to 
complete transformation of peopleÃ¢â‚¬â„¢s way of life or the social institution is known 
as -------------- change.
total

[ARD508] That an extension programme should be flexible, so that necessary changes 
can be made whenever needed, to meet the varying conditions is a principle of -----------
--
adaptability

[ARD508] The following are examples of natural physical forces except ------------
land

[ARD508] The extent to which an agricultural innovation can be tried in parts or limited 
scale is known as --------------
divisibility

[ARD508] .------------ theory D16posits that social behavior characteristically requires a 
balance between positive and negative forces.
field

[ARD508] .------------- and direct contact change are the two types of contact changes
Selective

[ARD508] Which source of social change is the recombination of existing cultural traits 
to fashion new things of the rate of its occurrence is directly related to the existing 
cultural traits?
invention

[ARD508] .---------- social change entails direct human intervention in shaping of 
direction of change towards uniform goal.
planned

CLICK TO DOWNLOAD MORE TMA PQ
Join group: T.me/NOUNSTUDENTSFORUM

Whatsapp: 08089722160 or click here for TMA assistance

Practice  E-exams & Chat with course mates on noungeeks.net

A-PDF Watermark DEMO: Purchase from www.A-PDF.com to remove the watermark

https://bit.ly/3Rb4Vxn  
https://T.me/NOUNSTUDENTSFORUM
https://wa.me/message/M3U4JPAOT4FEB1
https://noungeeks.net
http://www.a-pdf.com/?wm-demo

